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12may11 tilt sensor az swings PITCH — (cO+clxaz from fit)
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Data—(cO+cT*az from fit) clockwise spin h
Data—(cO+c1*az from fit) CCW spin i

- fit residuals: 0.004 deg 7

0.05— -

0.00 oo

L Pitch= 0.29 + 0.0000%xza —4.42e—05xaz + _
za: 10 0.0060x*sin( az — 147.1) +
B 0.0194xsin(30z — 298.8 7
_0.05 - Pitch= 0.2742 + 0.0000%za —4.44e—06+az + |
za: 10 0.0023*sin( az — 102.2) +
i 0.0190%sin(3az — 304.7 7
- Pitch= 0.2698 + 0.0000xza +8.04e—06xaz + *
| za: 10 O. QU22*SW\ az — 109.4) + |
0.0190*sin(3az — 304.4
- Pitch= 0.2732 + 0.0000xza +2.31e—06xaz + .
—0.10_za: 10,0, OO26*\S\H(\OZ - 123, O) o PR
0 0.0186+sin(3g7 — 305.4) 500 200
12may11 tilt sensor az swings Roll — (cO+cl*az from fit)
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L fit residuals: 0.007 deg i
0.05

0.00

Roll =—0.
/" za: 10 0. 0035*sm(
0.0423xsin(yz £ : N2
—0.05— Roll ==0.1964 + OOO*ZO +7.87e—06%az + = —
za: 10 0.0034xsin( az — 225.9) +
i 0.0427xsin(3az — W24‘9 7
- Roll ==0.1959 + 0.0000%za 5. /5e—06xaz + *
za: 10 0.0030xsin( az — ZO5f‘ +

0.0419xsin(3az — 124.6

B Roll ==0.1971 + 0.0000xza +1.00e—05xaz + .
—0.10 1 za: 10, O‘.OOQB*\SW(\OZ T 2%84)\4’\ T I R N PR

0.0424xsjpf($az — 124.4) 500 200




